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End Semester Examination, 2022
Semester-1I
Physics
PAPER - GE-2T
Full Marks : 40
Time : 2 Hours

Group - A
Answer any flve qaestions :
If §(x.y.z)=xy?z*, then find V¢ at (4-11) point. 2
& 4x,y,2)=0's" T V§ FTARFOI (4-11) Fce]
Write the properties of equipotential surface. 2
(B wrem CafRIefE e -
State Gauss's law in’ electrostatics. 2
[T 7afb o]
What do you mean by electric displacement vector 2?22
[fe =xxt (837 IS (< (AT 2]
What is magnetisation ? 2
(g3 <ffawnan {5 7)
Write the dimension of B in terms of (M, L, T, 1) 2
[(M, L, T, I) 9% SFIC3 B 9 T 4]
What is self-inductance ? | 2
[T FECS 1 (RN 2]
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Magnetic field. 2

Find the unit of . Where f = electric field =

03 @ % (7 T3
Ho
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Group - B
Answer any four questions :
(T RN SRS 2T B )
Calculate the capacitance of a parallel plate ca-
pacitor separation by distanced d. Write the di-
mensional formula of capacitance. 4+1
[FRRFTET 218 YIALA YA A2 FA ¥ d T2 /6 ATSI RS,
YIARTGA WA FRIFS (1] _
Write down difference among dia, para, ferromag-
netic material. What do you mean by magnetic
susceptibility ? 3+2
[#131, TP € {525 CH1 AR S (719 | (FFF 21 0o
¥ Gt 7]
Write the Maxwell's equations and also write sig-
nificance of each. 5
[rRreTaTeT AR R QR QT Sre o+
Prove that j-gg as the chm's law. Find the unit

L L]
of R Where L = Inductance & R = Resistance. 4+1

[T § = of TTCTRATE | L, a7 a3 et v

Two parallel wires placed at a separation of 6 cm
carry electric currents j, =54 and i, =24 in oppo-
site direction. Find the point on the line between
two wires, where the resultant magnetic field is
zero. : : 3+2

State the Lénz's law.
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(15 G ST TS MG 6 cm G SIwa Wy faca e

AR iy =54 8 i) =24 Y IR o2z faF @i etz

A2 2w, 7fb Otam TR i AT (BTF Tt i 4o

T ¢ (T I 2 9] '

What is hysteresis ? Explain it.

If 7=xi+y+zk, then x5 =7

(FRF5RPr 2ers 5 @Rt 3 =91 I Foxis ok

OIS Y x7 = F9 7 3+200000000
Group - C

Answer any one question :

(3 1T @35 AT Taa Arg)

State and explain Biot-Savart's Law. Using Biot- |

Savart's law calcﬁla'te the magnetic field at a point

on the axis of a circular current carrying loop.

State Ampere's circuital law. 3+5+2

[ACH-ArSE R e Ry @ T F7 | IAA-ASIH LA A2y

4G e IR Jarem Fetz s Rrrs (et aivey R

T | SRR IETLR 7 39 9 1)

Two charges +q and —q are placed at the two adja-

cent corners of a square of side 'a'. Two other

charges +2q and -2q are placed at the other two

corners as shown in the figure. What is the elec-

tric field intensity ‘at the centre of the square ?

+% 42
a [
~ ~55
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Using Gauss's theorem find the strength of elec-
tric field due to a uniformly charged long straight
wire. ' '

If y=x241 volt. Find electric field at x=2m.

['a’ AR a3 ITwcas 4fb AfifEe (A e +q e —q
i S 2 ZE | S I +2q ©-2q (F ISR
7% (Ffte Rers brazmanrze | dTFaba e oir ARe

FETA? 4N Ay
&
~% —a%

MGTTA CAATTR AR 90 WY 3] 4R AT TNES SIad
wee Sffe, Cfa efen R T
W = x? 41 OB, x = 2m RHUS e 2iren Fefa 3]
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